EERERENRGRE=4) VAR CEREE15E)ER
(£5F3E8HA16E~9A 16 AEM)

RF DK E B RAE (RHHRYD)
BERKERAEAR (RF AU

BESS FREREFAEME(U Sv/h)
No. | mTH =& PRELT e om (- ABED T 1E) oz
m 5[ 1408 5[ 140 5[ %140
PEHR | AERE | AR | HERE | AEHE | TR
) 50cm 0.09 0.09 0.07 0.07 0.08 0.08
285 |fFEM HREH RERBER 9A3AH
1m 0.09 0.09 0.07 0.07 0.08 0.08
50cm 0.08 0.08 0.08 0.08 0.08 0.08
286 |fREM REE REGEERSE 8H18H
1m 0.08 0.08 0.08 0.08 0.08 0.08
50cm 0.10 0.10 0.07 0.07 0.08 0.08
287 |fBEM REE SMERER 8H18H
1m 0.08 0.08 0.06 0.06 0.08 0.08
) 50cm 0.05 0.05 0.06 0.06 0.06 0.06
288 &M HREH R)IhRREEE 8A18H
1m 0.04 0.04 0.06 0.06 0.05 0.05
) 50cm 0.09 0.09 0.06 0.06 0.08 0.08
289 |{FETH HREH ZIIRER 8A18H
1m 0.08 0.08 0.05 0.05 0.08 0.07
. 50cm 0.08 0.07 0.09 0.09 0.12 0.11
290 |fFEMH REE bAIKLAE 9A3H
1m 0.07 0.07 0.09 0.09 0.11 0.11
_ 50cm 0.09 0.09 0.07 0.07 0.07 0.07
291 |fFEH REE I7EI—1REFHR 9A3A
1m 0.10 0.10 0.06 0.06 0.07 0.07
50cm 0.09 0.09 0.07 0.08 0.08 0.09
292 |fFEH REE REBELLOE 9A3H
1m 0.08 0.08 0.07 0.07 0.08 0.09
50cm 0.07 0.07 0.06 0.06 .
293 |fFEH REE RibbonfR BE =T 8H16H EFERBEOMEN =, REODHIE
1m 0.06 0.06 0.06 0.06
s ) . 50cm 0.17 0.17 0.07 0.07 0.09 0.09
294 |fFE™H ZELE RECELERE 8H16H
1m 0.16 0.16 0.06 0.06 0.08 0.08
) . ) 50cm 0.07 0.07 0.07 0.08 0.11 0.11
295 |fFEMH ZELE ZEL=FREELE 9A3A
1m 0.07 0.07 0.07 0.07 0.11 0.11
) . . ) 50cm 0.16 0.16 0.09 0.09 0.11 0.11
296 |(fFEM ZELE FEMILAEREECELE 9A 148
1m 0.16 0.16 0.10 0.10 0.11 0.11
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EERERENRGRE=4) VAR CEREE15E)ER
(£5F3E8HA16E~9A 16 AEM)

RF DK E B RAE (RHHRYD)
BERKERAEAR (RF AU

HESS EERE FAEE(L Sv/h)
@wx | 50 EFS fk0O PR Bz
No. | THATH 2% FRELH BE | Som (R - 4FRDF19{E) %
m 5[ 1408 5[ 140 5[ %140
PERR | AERE | BELE | AEHE | AERE | AErE
‘ ) . 50cm 0.07 0.07 0.05 0.05 0.08 0.08
297 |fFEH ZELE RECELELRIR 8H16H
1m 0.08 0.08 0.05 0.05 0.08 0.08
. ) . . 50cm 0.06 0.06 0.06 0.05 0.06 0.07
298 |{FEM™ ZELE RECELEFRECLELE 8H16H
1m 0.06 0.05 0.05 0.05 0.06 0.06
‘ o ‘ 50cm 0.06 0.06 0.06 0.06 0.07 0.07 ) o .
299 |fFETH ZELE FEMALRNRECELE 8A18H F1ARMBHRELT: RNREELE
1m 0.05 0.05 0.05 0.05 0.07 0.07
) . ) 50cm 0.07 0.07 0.08 0.08 0.11 0.11
300 |[fFETH ZELE MR EERIEELEAREHHE 9A3A
1m 0.07 0.07 0.07 0.07 0.11 0.11
50cm 0.09 0.09 0.09 0.07 0.08 0.08
301 |[fFET S E] FEMILRESHHE 8A16H [EM] No307HEm I FER/INERELH
1m 0.10 0.09 0.07 0.07 0.08 0.08
) ) 50cm 0.06 0.06 0.06 0.06 0.07 0.07
302 |fFET SLAE] FETILRESHHR 9A3H
1m 0.06 0.06 0.06 0.06 0.07 0.07
) ) ) 50cm 0.10 0.10 0.11 0.11 0.11 0.11
303 |fFET R FEMIARGHE 9A3H
1m 0.09 0.09 0.11 0.11 0.11 0.11
50cm 0.07 0.07 0.07 0.07 0.08 0.08
304 |fFET S E] FEMLRHHHE 8A 18R [EM] No312FEH I EH/NERELA
1m 0.06 0.06 0.07 0.07 0.07 0.07
50cm 0.07 0.07 0.06 0.06 0.08 0.08
305 |fFET S E] FEMILIERHE 8A16H [EM] No.314FEMIER/NZREHA
1m 0.07 0.07 0.06 0.06 0.07 0.07
50cm 0.07 0.07 0.09 0.08 0.09 0.09
306 |fFET INERR FETILFENER 8A16H [EM] IEHFIc&YRETIE
1m 0.07 0.07 0.09 0.08 0.08 0.08
50cm 0.09 0.09 0.08 0.09 0.08 0.08
307 |fET INRR FEMILFER/DER 8A16H [EM] NodoiFEMILRELHHELLA
1m 0.10 0.09 0.07 0.09 0.07 0.07
) N ) N 50cm 0.11 0.11 0.08 0.08 0.09 0.09
308 |fBREM INERR FERILKE/NER 8H16H
1m 0.11 0.11 0.08 0.08 0.08 0.08
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EERERENRGRE=4) VAR CEREE15E)ER
(£5F3E8HA16E~9A 16 AEM)

RF DK E B RAE (RHHRYD)
BERKERAEAR (RF AU

AFESS ERBEEFEBEELSv/h)
gz | 50 _— - RE EES
No. | THETH X5 FRELH e om (AR - 4FRODF 1 1E) i
ol M@ E14m &M@ E14m M@ E14m
BERR | BERE | BEes | FreE | pres | Baes
50cm 0.05 0.05 0.06 0.06 0.07 0.07
309 |fFEH INERR RENILREDER 9A3H
1m 0.05 0.05 0.06 0.06 0.07 0.07
50cm 0.09 0.09 0.07 0.07 0.11 0.11
310 |fFEH INEEAR FEm AR/ 9A3H
1m 0.09 0.09 0.06 0.06 0.10 0.10
50cm 0.06 0.06 0.06 0.06 0.10 0.10
311 |Eh INERR FET L ERF/NERR 8H16H
1m 0.06 0.06 0.06 0.06 0.09 0.09
50cm 0.07 0.07 0.07 0.07 0.08 0.08
312 |{FETH INEEAR FEHILREF/NER 8A18H [IEM ] No.304F:ZEm I EEF 4R LR
1m 0.06 0.06 0.06 0.06 0.07 0.07
‘ 50cm 0.05 0.05 0.06 0.06 0.06 0.06
313 |[fFEmH INEEAR FETILRNNERR 8H18H
1m 0.04 0.04 0.05 0.05 0.05 0.05
506m 0.07 0.07 0.06 0.06 0.08 0.08 N _—
4 g | TN 8A188 g S0SF TR A AR
1m 0.07 0.07 0.06 0.06 0.08 0.08 :
50cm 0.07 0.07 0.07 0.07 0.08 0.08
315 |{F:EH INEERR FET LB E/NERR 9A3A8
1m 0.06 0.06 0.07 0.07 0.08 0.08
50cm 0.09 0.09 0.08 0.08 0.11 0.11
316 |FEH INERR FZET LA BN 9/ 148
1m 0.10 0.10 0.08 0.08 0.10 0.10
506m 0.08 0.08 0.07 0.07 0.11 0.11
317 |F&ETH INEEAR FEmILNENER 9R14H
1m 0.08 0.08 0.07 0.07 0.11 0.11
50cm 0.09 0.09 0.07 0.07 0.09 0.09 [EM N SO BE-BEZS] N324E
318 |[fFEH INERR HEMIL A SRR 98148 = iy - =
Im 0.09 0.09 0.07 0.07 0.09 0.09| LA EBFERPEEAA
) ) e ) 50cm 0.07 0.07 0.06 0.06 0.07 0.07
319 |FEH R FENILFE PR 8H16H
1m 0.06 0.06 0.06 0.06 0.07 0.07
] ) L ) 506m 0.12 012 0.06 0.06 0.10 0.10
320 |{F:ETH hER gL FET LA E AR 8H18H
1m 0.12 0.12 0.06 0.06 0.09 0.09
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EERERENRGRE=4) VAR CEREE15E)ER
(£5F3E8HA16E~9A 16 AEM)

RF DK E B RAE (RHHRYD)
BERKERAEAR (RF AU

AESS TR EFPEME L Sv/h)
EFS fk0O PR Bz
No. | ilTHt 45 PHEEH BE | e (BR-4IBDF91E) %
im 4 %14 4 %14 4 %14
HERE | HEER | nere | PreR | ness | Pass
. ) . 50cm 0.11 0.11 0.06 0.06 0.11 0.11
321 [fBEMH el 5 FERILREF R 9A3H
m 0.11 0.11 0.06 0.06 0.11 0.11
i ) ) . 50cm 0.11 0.11 0.07 0.07 0.08 0.08
322 |{F:EM gL FET LR AR 8H18H
m 0.11 0.11 0.06 0.06 0.07 0.07
N ) . 50cm 0.07 0.08 0.09 0.09 0.10 0.10
323 |fBEM el 5 FEMILEILFER 9A3H
m 0.07 0.07 0.09 0.09 0.10 0.10
50cm 0.09 0.09 0.07 0.07 0.09 0.09 [EM N Sk0O I BE-BEZ] N31shE
324 |fFEH rhERRk HEMIL AEREPER 98148 = iy - =
Im 0.09 0.09 0.07 0.07 0.09 0.09| L AEFEVNPEESA
N N L 50cm 0.08 0.09 0.06 0.06 0.10 0.10
325 |fFEM™ =EE REEK 9A3H
m 0.08 0.08 0.06 0.07 0.09 0.10
N o 50cm 0.06 0.06 0.06 0.06 0.14 0.14
326 |fFEH EEFR 2SR 8H18H
m 0.05 0.05 0.05 0.05 0.13 0.13
) N N L 50cm 0.08 0.08 0.05 0.06 0.08 0.09
327 |fBEM =EFE BRI 8H16H
m 0.07 0.07 0.05 0.05 0.08 0.08

¥ TE14EAERRIEE. SMN2FE8A26ANS10A6HICEELI-MEERBRERIIRE=2I VT RE(EREF14E) IIIBTHHAEHR. TOMISOVTIE., HEEWIEEHT 5.
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